
Maria Splitt  Only for informational purpose, will not be replaced in case of changes Print Date:  3/14/2013 10:11 AM  

  

Spare Parts List
 

HILTI Aktiengesellschaft Schaan/FL
Hilti = registered trademark of Hilti Corp., LI-9494 Schaan,
Principality of Liechtenstein © 2009, Right of technical and
programme changes reserved, S.E. & O.

Mat-No. SPL-Index Change Master Description Valid at Drawing Page
2004645 2 567251 Diamond grinder DG 150   RUS 14.03.2013 USD / 350089 / * / H 1/6
  

 

Z-No Mat-No. Change Master Quantity Unit Description Specification Order Type Status

1 281621 1 PC Motor housing printed

2 282030 1 PC Stator assy

3 282029 1 PC Rotor assy

4 281645 1 PC Bearing plate assy

5 281506 1 PC Ball bearing 12X32X10

6 71468 1 PC Circlip 32X1.2FED-ST - PHOSPHAT. UND
GEÖLT

7 282198 1 PC Air deflector

8 70416 1 PC Circlip 12X1FED-ST - PHOSPHAT.&GEÖLT

9 234227 1 PC Compression spring 21,65x5,4

10 206035 2 PC Plastite screw 45 5X60, T25

11 206145 1 PC O-ring 21,3X2,4N-NBR70

12 281508 1 PC Rotary shaft seal BAUM12X32X7

13 282033 1 PC Motor control packed

14 281867 1 PC Motor housing end cap ctd.

15 278284 4 PC Torx-soc re scr SN65 4X20 stnls.A2-70-EBONOL-
SS-GESCHWÄRZT

16 281669 1 PC Bevel pinion Z=10

17 281677 1 PC Hexagon nut M8-SW11

18 281753 1 PC Slider assy

19 281754 1 PC Spring

20 2037607 1 PC Cooling fan

21 281507 1 PC Grooved ball bearing 8X22X7-2RSWLST -
608-2RS



Maria Splitt  Only for informational purpose, will not be replaced in case of changes Print Date:  3/14/2013 10:11 AM  

  

Spare Parts List
 

HILTI Aktiengesellschaft Schaan/FL
Hilti = registered trademark of Hilti Corp., LI-9494 Schaan,
Principality of Liechtenstein © 2009, Right of technical and
programme changes reserved, S.E. & O.

Mat-No. SPL-Index Change Master Description Valid at Drawing Page
2004645 2 567251 Diamond grinder DG 150   RUS 14.03.2013 USD / 350089 / * / H 2/6
  

 

Z-No Mat-No. Change Master Quantity Unit Description Specification Order Type Status

22 282028 1 PC Gear housing assy

23 2042528 1 PC Flange assy packed

24 281672 1 PC Pushbutton

25 320028 1 PC Ball bearing 8X22X7

26 206291 4 PC Torx-soc ov screw M5X16 MK T25 black

27 281676 1 PC O-ring 40X2,5

28 281680 1 PC Shim ring 0,5MM

28 281681 1 PC Shim ring 0,4MM

28 281682 1 PC Shim ring 0,3MM

29 2042952 1 PC Grip black

30 281692 1 PC Grip cover

31 281651 1 PC Connecting cable

32 72417 2 PC Conductor end sleeve

33 75094 1 PC Clamp

34 278313 3 PC Torx-soc re scr SN65 4X16 blackST-GAL.ZNFE5F
+DELTACOLL - SCHW

35 281696 1 PC Protective sleeve

36 330332 1 PC Terminal block 500/2 35 DS

37 282032 1 PC Connector housing assy

38 281748 1 PC Setting lever assy

39 281857 1 PC Torsion spring

40 281559 1 PC Rotary shaft seal BAUM SL X7 20X35X7

41 281694 1 PC Slider

42 282031 1 PC Protective cover assy



Maria Splitt  Only for informational purpose, will not be replaced in case of changes Print Date:  3/14/2013 10:11 AM  

  

Spare Parts List
 

HILTI Aktiengesellschaft Schaan/FL
Hilti = registered trademark of Hilti Corp., LI-9494 Schaan,
Principality of Liechtenstein © 2009, Right of technical and
programme changes reserved, S.E. & O.

Mat-No. SPL-Index Change Master Description Valid at Drawing Page
2004645 2 567251 Diamond grinder DG 150   RUS 14.03.2013 USD / 350089 / * / H 3/6
  

 

Z-No Mat-No. Change Master Quantity Unit Description Specification Order Type Status

43 281687 1 PC Cover cap upper

44 330445 6 PC Plastite screw 45 6X40 T30 black

45 281750 1 PC Cover assy

46 281684 2 PC Torx-soc re scr SN65 6X25 blackST-GAL.ZNFE5F
+DELTACOLL - SCHW

47 281741 1 PC Side handle assy

48 71886 1 PC Screw plug assy

49 2004644 1 PC Rating plate DG 150 RUS

50 281872 1 PC Warning sign

51 281670 1 PC O-ring 68X2

52 281686 1 PC Retaining ring SW45

53 281673 1 PC Driver blade

54 281674 1 PC Compression spring 1X11,5X21

55 281671 1 PC O-ring 6,5X2

56 41653 1 PC Circlip J14X1

57 30151 1 PC Circlip JV35X1,5

58 370641 1 PC Detent ring packed

59 370640 1 PC Seal packed

60 281678 1 PC Labyrinth seal

61 282109 1 PC Electrical assembly set assy

62 281873 2 PC Guard plate

63 282114 1 PC Tab terminal

64 282118 1 PC Screw M3x5

65 281861 1 PC Flange assy



Maria Splitt  Only for informational purpose, will not be replaced in case of changes Print Date:  3/14/2013 10:11 AM  

  

Spare Parts List
 

HILTI Aktiengesellschaft Schaan/FL
Hilti = registered trademark of Hilti Corp., LI-9494 Schaan,
Principality of Liechtenstein © 2009, Right of technical and
programme changes reserved, S.E. & O.

Mat-No. SPL-Index Change Master Description Valid at Drawing Page
2004645 2 567251 Diamond grinder DG 150   RUS 14.03.2013 USD / 350089 / * / H 4/6
  

 

Z-No Mat-No. Change Master Quantity Unit Description Specification Order Type Status

66 281860 1 PC Nut

150 237520 1 PC Warning sign USA cutting and sanding

600 430817 1 PC Label RFID

716 280101 1 PC Oil Kluebersinth GH 6-80 5L

826 280102 1 PC Grease PETAMO GHY 133 N 400G
 



Maria Splitt  Only for informational purpose, will not be replaced in case of changes Print Date:  3/14/2013 10:11 AM  

  

Spare Parts List
 

HILTI Aktiengesellschaft Schaan/FL
Hilti = registered trademark of Hilti Corp., LI-9494 Schaan,
Principality of Liechtenstein © 2009, Right of technical and
programme changes reserved, S.E. & O.

Mat-No. SPL-Index Change Master Description Valid at Drawing Page
2004645 2 567251 Diamond grinder DG 150   RUS 14.03.2013 USD / 350089 / * / H 5/6
  

 

 



Maria Splitt  Only for informational purpose, will not be replaced in case of changes Print Date:  3/14/2013 10:11 AM  

  

Spare Parts List
 

HILTI Aktiengesellschaft Schaan/FL
Hilti = registered trademark of Hilti Corp., LI-9494 Schaan,
Principality of Liechtenstein © 2009, Right of technical and
programme changes reserved, S.E. & O.

Mat-No. SPL-Index Change Master Description Valid at Drawing Page
2004645 2 567251 Diamond grinder DG 150   RUS 14.03.2013 USD / 350089 / * / H 6/6
  

 

 


